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QUESTION 1

What are two benefits of the PushRegistry? (Choose two.) 

A. It provides a way for the AMS to automatically invoke a MIDlet at a specified time if it is not already running. 

B. It provides a way for an incoming connection to invoke a MIDlet that can handle the content sent by the connection. 

C. It provides a way for two MIDlet suites running on the same device to discover and communicate with each other in a
secure manner. 

D. It provides a way to restrict HTTP connections to well-known network addresses. 

Correct Answer: AB 

 

QUESTION 2

What are two benefits of the PushRegistry? (Choose two.) 

A. It provides a way to restrict HTTP connections to well-known network addresses. 

B. It provides a way for the AMS to automatically invoke a MIDlet at a specified time if it is not already running. 

C. It provides a way for two MIDlet suites running on the same device to discover and communicate with each other in a
secure manner. 

D. It provides a way for an incoming connection to invoke a MIDlet that can handle the content sent by the connection. 

Correct Answer: BD 

 

 

QUESTION 3

Which two can a developer use to create a Timer that will go off in 5 seconds, repeating every 3 seconds? (Choose
two.) 

A. timer.schedule(timerTask, new Date().getTime() + 5000, 3000); 

B. timer.scheduleAtFixedRate(timerTask, 5, 3); 

C. timer.schedule(timerTask, 5000, 3000); 

D. timer.schedule(timerTask, 5, 3); 

E. timer.scheduleAtFixedRate(timerTask, 5000, 3000); 

Correct Answer: CE 
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QUESTION 4

What action can the device take when some Item objects on a Form do NOT fit when displayed? 

A. delete the extra Item objects 

B. display a runtime error 

C. create an additional screen 

D. create a vertical scroll bar 

Correct Answer: D 

 

 

QUESTION 5

Which two clarifications does the JTWI specification make regarding how devices implement the Mobile Media API?
(Choose two.) 

A. A JTWI device must support HTTP for media file download of all supported media formats. 

B. A JTWI device must support MIDI file playback. 

C. A JTWI device must support WAV file playback. 

D. A JTWI device must support MP3 file playback. 

E. A JTWI device must support Real Time Streaming Protocol (RTSP) for media file download of all supported media
formats. 

Correct Answer: AB 
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